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g 4 X Eih | B AR RTEM ik ke
BEHN J= = 5kg 75 kg | 1,000 EiE
BEHN 8E FE 5kg #a kg 850 EE
BEHN 8E = 5kg ] kg 800 EiE
BEHN 102 =Ll 5kg = kg 750 EiE
BEA4OY 40/45E = 4kg #a kg 800
7Y 20/25E ~IG 5kg e kg 950
S 10ke RI& 1A 78 kg | 1,800 15 EE
7 8/9kg RIG 1A %8 kg | 1,500 *E FE
7 6/8kg =5 1A 8 kg | 1,500 TEE
ES<Y 6/7kg RIG 1A 8 kg | 1,400 ETBE
HIA 4kg BERS 1A #a kg | 1,300 # EF
huA 5kg BERS 1A #a kg | 1,300 2 EF
AXF 42 FE 5/6kg = kg | 1,500 EE EX
AXF 2/3E Bi% 4/5kg e kg | 1,350 TE
ATF 4/6% BERE | 4/45keg & kg | 1,800 TiE IBH MZEE
R WP th = 5kg B kg | 1,400
RAIWKRZILAA £E 300g ) # | 1,400 5
AT RAT #9180/200g| dtifEE 54 # 350
TRy+ 8 #9300¢g dtiEE & kg | 1,600
BI)LE 350/450g Z A & kg | 2,500
miT24ZH #9900g ZX0 >4 # | 1,300
4T 100/130g KI5 & kg | 2,000




